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One 
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is paired to 
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element of 
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element of 

the range  
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the domain 
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element of 

the range  
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( 0, 3) 

( 2, 1) 

( -1, -2) 

( -3, -1) 

( -6, 2) 
( 3, 2) 

( 6, 0) 

( 2, - 2) 

One 

element is 

paired to 

two 

elements of 

the range  
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( -6, 2) ( 3, 2) 

( 6, 0) Two 

element 

are paired 

to the same 

element of 

the range  
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( -1, -2) 

( -3, -1) 

( -6, 2) 

( 3, 1) 

( 6, 0) 

Each 

element 

pairs to 

exactly one 

unique 

element of 

the range  
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One-to-one 

 Not Onto 

One element 

of the range 

does not 

correspond to 

any element 

in the domain   
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One-to-one 

Onto 

Each element 

of the range 

corresponds 

to an element 

in the domain   
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Discrete Relation   

Continuous Relation   

Vertical Line Test  







If no 

vertical line 

intersects a 

graph in 

more than 

one point, 

the graph 

represents a 

function   



If a vertical 

line 

intersects a 

graph in 

two or more 

points, the 

graph does 

not 

represent a 

function   


